ENGLISH FINAL :

Passage was based on - Drones.(Earlier vs Modern)

1. Synonym of OBLITERATE - Destroy / Eradicate

2. Synonym of Conjecture - Guess / Speculate

3. Idiom - THROW A SPANNER - to do something that prevents a plan, To Hinder.
4 SET STORE BY - to have regard or esteem for

5. Antonym: Daunt - Encourage

6. One word substitution: Something which cannot be removed - Indelible

Fill in the blanks:
his appearance. ANSWER- PUT IN (To be present for a short time)
Options- put on, put up, put in, put above

2) The lawyers got into a heated argument so the judgewas ______?
Answer- Up in Arms (To be very angry)

Idiom - Kick the bucket - To die.

ENGLISH ROUGH:

1. Obliterate synonym
2. Idiom -
Passage related to drones

synonyms.:

Conjector - synonyms

Idioms - two set store




Loor Dance - Haryana
ion - Wi ’s Di h 1854
Eirst Newspaper - Bengal Gazzette

Global 500 Award given for? Environment
Battle of Belonging of Shashi Tharoor is for - Patriotism

o0~ WwNR

Padma Bhushan given to - Sundar Pichai and Satya Nadella (Parag Agarwal was also given
in Option) Statement Based. 1&2
Which are not F1 Racing Players?

ntral Vista Project Archi re? Bimal Patel

9. First Eart Summit held at? Rio de Janairo

10. IAF Aerobic Team name? SuryaKiran + Sarang

11. IAF First chief? Air Marshal Subroto Mukerjee

12. India Largest producer of? Mica

13. Which is more elastic than Rubber? Steel

14. Match the following: Rafale - France : Chinook - USA : s400- Russia

15. Azadi ka Amrit Mahotsava which Metro celebrating? Delhi Metro

16. Passport Seva Kendra set up at? Post-Offices Post Office Passport Seva Kendra (POPSK)
17. international date line longitude - 180 degree

18. Al Research SuperCluster(AIRSC) by - Meta Company

19. The study of cells- Cytology

20. First Ti _voting in whicl ? Keral

21. Who is Chairman of DRDO - Defense Secretary

22. QUAD Countries name - Aus, India and USA and - Japan

23. Kieron Pollard hit sixes in a T-20 International against which team? Sri Lanka

24. Lucknow IPL Team name - Super Giants

25. Which compound is used in perfume for fragnance - aroma compound - vanillin or coumarin

kittens
2. odd one out : options are unscrambled as
1. Cheese 2.Yoghurt 3. Curd 4. Nuts



Ans: Nuts

3. Venn diagram between India, Bihar and Ranchi
Ans: Bihar and Ranchi both are in india

4. If circle shows golfer, square shows teacher, triangle shows newspaper and rectangle shows
doctor, then find the number of person whos is golfer and read the newspaper but not a
doctor or teacher.

Ans:- 24

5. 0Odd one out

Ans:-N148 (loqic: letter, letter position _and 2 times

Ans:- all are differents parts of a plant

-

7, find missing number

10 |5 105

20 |? 420

30 |15 | 915
Ans. 20

(10*10 + 5 =105)
20*20 + 20 = 420
*30+15 = 91




sunday monday Wednesday Saturday odd one out
Ans:- wednesday

kittens
3. odd one out : options are unscrambled as
1. Cheese 2.Yogut 3. Curd 4. Nuts
Ans: Nuts

1. Two lift. One up going. Another down. One at the 10th floor, going up. Other at 35th floor

QITNNG GOVVI] 1 MINUTE N (L JOC 4 [ n One min ne [ JOC 6 down, On wh

floor they will meet? Options Approx 21, 22, 22 23
Ans. 22

2. ONE INVESTED MONEY AT 5% CI FOR 3 YEARS. Cl= 1261 FIND PRINCIPAL.

Ans. 8000

3. pipe takes 7hrs to fill a tank, due to a leak it now takes 8hrs to fill the tank.....then in how much
time does it take to empty the tank??

Ans. 56 Hr



much time does it take to empty the tank??
Ans:- 56 hr

thursday. so how much he spend?
Ans: he spend 15/16 of total

7. InC.l a sum become double in 4 year . find In how many year money 8 times?
Ans:- 12 years

8. th m of resN1n2n 25 and N1 : n2 and n2 :n3 = 3:2, find nl

9. A person X is on 10th floor and the second person is Y on 35th floor . if the lift is moving
upword in 24 floor per mintue and downword in 26 floor per mintue. which floor they will
Cross .

1. Two lift. One up going. Another down. One at 10th floor, going up. Other at 35th floor
coming down. In 1 minute, the Lift goes 24 up. In One min, Lift goes 26 down. On which floor
hey will meet? ions Approx 21, 22,22 2
Ans. 22
2. ONE INVESTED MONEY AT 5% CI FOR 3 YEARS. CI= 1261 FIND PRINCIPAL.

Ans. 8000

3. pipe takes 7hrs to fill a tank, due to a leak it now takes 8hrs to fill the tank......then in how much
time does it take to empty the tank??

Ans. 56 Hr



